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W n |V ey [1/20® [Nr f&lp | V| (ht2)|1/20° | Nr
#lcm)ecm?® | X980 #lcm|cm® | X980
1115[111.8[3.94x10*[3.93%x10*{2577.6| 1 15 1134.84.02Xx10%14.09x10 *|2859 .4
2 120(118.3|4.43%10 %4.40x10 *|2727.6| 2 20[142.5[4.51x10%|4.57x10%3023.9
3 [25(124.0/4.92x10*|4.83x10 #|2860.2| 3 25(151.2/5.00x10*|5.15X10%3218.5
4 1301129, 6l5.41x10%]5.28x10 42989, 4] 4 |30[158.5(5.49x10 *{5.66X10*|3363.5
5 135[135.215.90%104]5.75%10 4|3118.5| 5 [35[164.8[5.98x10 #|6.11X10 *|3496.0
6 1401140 .316.39%104]6.18x104|3235. 0} 6 |40[171.8]6.47x10*|6.44X10 %|3645.7
7 1a51145.716.88x10 416 .67x10%|3359.9| 7 |45[177.4/6.96x10*|7.08x10|3764.5
8 [50(152.817.37x104]7.34x10%3525.3( 8 |50(183.8|7.45x10*|7.56x10*{3888.9
9 155]158.6(7.86x10%17.82x10%|3657.5(|9 |55/189.6|7.94X10*[8.10x104|4024.2
10/600165.5(8.35%10 *18.61x104{3817.4({ 1060[195.6(8 .43x10 * 8 .61X10*{4150.7
#O)~Q@)R R (95 %)
B~ (R K BT 45 2 it
r=0.lcm>»1=61.0cm>
7=0.1cm>» t=60sec»7=15.6° C t =60sec » T=13.5C
gl 2 (cm) h(cm)| em®) | 1eX 107 2Py;sd g{ em)Viem® X107 %Pyise
1161.0f 20| 70.0 1.08 1 15 | 25.6] 1.75
2161.0] 25| 87.6 1.08 21 20 |34.0] 1.76
3161.0] 30 |104.2 1.09 3| 25 143.2| 1.73
4 151.0f 20 | 83.7 1.08 41 30 |51.5) 1.74
5151.0/ 25 {105.4 1.07 5 35 160.5| 1.73
6 |51.0} 30 {124.3 1.09 6| 40 168.3| 1.75
7 141.0] 20 1106.3 1.06 7 45 |75.6| 1.78
8 141.0| 25 |128.8 1.09 8| 50 |84.9| 1.76
9 141.0] 30 {157.8 1.07 9 55 [94.5| 1.74
101 60 |101.9] 1.76 -
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G | nCem) | viem®) | n(Pow)
1 100 13.4 9.56
2 90 11.9 9.68
3 80 10.4 9.85
4 70 9.4 9.53
5 60 9.85

7.8

7=0.1lcm>» 2=29.0cm > &2 =60 cm

K TCCY| 1/TX107° | V(em?® | #X10°Poise| logp
(°K) )

1 79.0 2.84 122.7 3.89 —2.41
2 74.6 2.88 116.2 4.11 - 2.39
3 69.0 2.92 107.5 4.44 — 2.35
4 63.7 2.97 99.5 4.80 —2.32
5 59.7 3.01 93 .4 5.11 —2.29
6 53.3 3.07 85.1 5.58 —2.25
7 49.1 3.11 80.3 5.95 —2.23
8 44.2 3.15 73.9 6.46 —2.19
9 39.4 3.20 68.2 7.00 —2.15
10 34.8 3.25 63.2 | 7.56 —2.12
11 30.7 3.29 58.6 8.15 —2.09
12 25.1 3.36 52.9 9.02 — 2.04
13 19.9 3.41 48.3 9.89 —2.00
14. | 15.0 3.47 43.8 | 10.91 —1.96
15 10.1 3.53 40.4 | 11.83 —1.93

60 sec T =22°C

KB h(cm)|V(cm?) Rusa Rear
11 30 46.5 [3.79%x10¢[3.82x10*
21 32 | 49.5 [3.84%x 10" =
3| 34 52.0 |3.85%x10* -
4 | 38 58.8 |3.80x10* ~
5| 40 62.2 [3.83x10* -
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